With

duo-passenger

Approval Number

@ 92R-01 10396 TYPE 1019

footrest

S$1000 RR - SSEC RR Large

2017 and up

* Without
duo-passenger
footrest

Pos Qty Part No. Description Ordernumber
1 1 900074 Muffl. SSEC RR Large T1019 Carbon Steel BM10S02-SECS - Carbon Steel
850013 Mounting Parts:
2 1 750018 Adapter
Weight:
3 1 700036 Mounting Bracket Stock: 44 kg
4 2 14140 M6x16 Flange Screw Bos: 2,2kg
5 1 14092 Rubber
6 1 64621 Bushing Noiselevel: @ 6750 rpm
Stock: Specified 99,0 dB(A)
7 1 300027 Alu Washer M8 D25 Measured 97,5 dB(A)
8 1 300028 Bolt M8x30 DIN7991 Bos: Measured 99,0 dB(A)
4 1 14060 Washer M8x24
8 1 300037 Bolt M8x35 Hex Performance
Stock: 197,8 Hp/ 13352 rpm
9 1 14088 Pull Spring 36 mm. Bos: 200,9 Hp / 13352 rpm
10 1 64653 Clamp 53

Max. Hpincr.: + 5,3 Hp / 12906 rpm
Max Nmiincr.: + 2,7 Nm/ 7836 rpm

Tips

In order to avoid smudges and fingerprints
burning into the surface it is imperative to clean
the exhaust before starting the engine, bumnt in
stains are very difficult to remove.

After 300 miles or 500 kms. check all nuts and
bolts and retighten if necessary.

www.bos-exhausts.company

MBOS

EXHALSTS



